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#8
Assignment #5
The Simplex method

30 points

DUE:  October 21
Creation Jewelry produces two products, necklaces and earrings.  Profit on each necklace is $100 and on earrings is $80.  The maximum daily demand for earrings is 8.  The company has 12 employees.  It takes 2 employees working all day to make one necklace and one employee working all day to make one pair of earrings.  The company wants to know how many necklaces and how many pairs of earrings it should produce, on a daily basis, to maximize profit.

Create the linear programming model and solve it with the Simplex method

Report the optimal solution.

Attach this SIMPLEX paper to your memo and linear programming model.
Simplex Tableau for this Model
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The solution shown in this iteration is:  _______________________________________

_______________________________________________________________________

_______________________________________________________________________
Simplex Tableau for this Model

2nd Iteration
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The solution shown in this iteration is:  _______________________________________

_______________________________________________________________________

_______________________________________________________________________

Simplex Tableau for this Model
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